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KCLA325 32500 4900610 | 40 2300 05500 01600 003500 003500
t=5000 02000
t=5000 01800
KCLA325B 32501440 4900610 | 40 2300 05500 01600 003000 001500
t=5000 02000
t=5000 01800
KCLA325C 32501440 4900610 | 40 2300 05500 01600 002000 0.008 00
t=5000 02000
SMA490B 20500 4900610 | 40 2300 02000 05500 16000 003500 003500
KCLA355 35500 5200640 | 40 2100 02000 05500 16000 003500 003500
KCLA355B 35501470 5200640 | 40 2100 02000 05500 16000 003000 001500
KCLA355C 35501470 5200640 | 40 2100 02000 05500 16000 0020000 0.008 00
SM520B 35500 5200640 | 40 2100 02000 05500 16000 003500 003500






